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Fruit and Vegetable Direct Market Cost of Production Definitions

Yearly Revenue

e Revenue is broken down by each Vegetable or Fruit crop grown. In each instance, the total quantity and price received
should be used to calculate the total revenue for each Vegetable or Fruit crop.

e In addition, quantity and price are also used for calculating the Farm Gate, Farmers Market and Wholesale revenue.

¢ When analyzing Revenue numbers, keep in mind any production/environmental issues and price changes as these
impact (increase or decrease) farm profitability.

e The summary page can mask crops which are not profitable, therefore each crop should be analyzed separately.

Production Expenses

e A breakdown of Production Expenses specific to each crop is best for accurate analysis.

e  Lumping production costs together masks crop profitability and minimizes the amount of analysis that can be
completed.

e Seed, Chemical and Fertilizer are specific to each crop and the cost for each can easily be calculated. Packaging cost
are usually crop specific due to crop variance in packaging requirements.

e Custom work, Insurance, Irrigation and other costs can be calculated based on the percentage of each crop grown.
Reviewing production costs on a yearly basis can provide insight into changing profitability and aid managing
production costs for each crop.

Production Margin

e  Production Margin is calculated in the following manner: Production Margin = Yearly Revenue — Production Expenses.

e Review Production Margin for each crop to ensure that each crop is producing a profit at this stage. If a crop is not
profitable and extenuating circumstances do not exist, consider why that crop is being grown. Crops with a higher
Production Margin are essential for overall farm profitability.

Operating Expenses

e These are expenditures that the farm incurs throughout the production year; however, they are not directly associated
with the production of the crop.

¢ The total cost for each category collected should be determined for each crop based on the acreage percentage of
each crop grown. This is then rolled into the Total Operating Expense for each crop. Carefully look at the change in
Operating Expenses for each year. Analysing Operating Expenses for differences between years can help explain why
farm profitability has increased or decreased. For example, an increase in fuel or major repair to a piece of equipment
could have a major impact on perating expenses. Understanding these changes can be very important, particularly if
asked by a financial institution.

Labour Expenses

e Labour Expenses are divided into two categories; paid (actual salaries paid to employees) and unpaid (an estimate of
dollars invested by owners for which they are not paid).

e Paid labour is based on the actual total wages paid and then divided among the crops based on acreage percentage,
unless a higher percentage of labour than other crops.

e Unpaid labour is based on hours estimated to complete various tasks on the farm. An average cost of $15.00 per hour
to calculate the cost for unpaid labour was used, and this cost was then divided amongst the crops based on acreage
percentage, unless a crop requires a higher percentage of labour than other crops. The unpaid labour was factored
into the calculations as there is value for this management.

Total Variable Expenses

e Total Variable Expenses = Production Expenses + Operating Expenses + Labour (Paid and Unpaid) Expenses.

e All these expenses are what it costs throughout the year to grow and sell the produce. These expenses should be
monitored for fluctuations and analysed to determine why changes occurred. Critical monitoring of Variable Expenses
will aid in profitability if production/marketing issues arise.



Fruit and Vegetable Direct Market Cost of Production Definitions (continued)

Contribution Margin

e Contribution Margin = Total Revenue — Variable Expenses (Total Production Expenses — Total Operating Expenses —
Total Labour (Paid and Unpaid)).

e This calculation will determine how much the farm is able to contribute toward Fixed Expenses. If the Contribution
Margin in a given year is negative, then either Revenue needs to increase or expenses need to decrease for farm
profitability to be maintained. Monitoring specific crop revenue for each year provides a picture on which crop(s) are
positively and negatively affecting Contribution Margin. Crops returning a negative Contribution Margin should be
carefully assessed to determine if continued production of that specific crop is financially wise. Without analysis of
Contribution Margin, production of a non-profitable crop could continue.

Fixed Expenses

e There are three categories of Fixed Expenses; they are Operating Interest, Depreciation of Machinery and Depreciation
of Buildings.

e Operating Interest includes all interest paid to Financial Institutions for production of goods for sale. This total expense
is then divided between crops based on an acreage percentage. Depreciation for Machinery and Buildings is based
on values collected for each year and then a 10% straight line depreciation is utilized and divided amongst each crop
based on an acreage percentage. These expenses are totalled to determine the Total Fixed Expenses for the operation.

Gross Margin

e Gross Margin is calculated for a farm to determine revenue remaining after all out-of-pocket expenses are deducted.

e The calculation is as follows: Gross Margin = Total Revenue — Variable Expenses — Fixed Expenses (not including
Building and Machinery depreciation).

* A positive Gross Margin means there is money left over to pay management and also for future capital expenditures.
If this value is negative then the farm is not able to cover the production, operating and labour expense needed
for production of the produce to be sold. If Gross Margin is increasing it is important for producers to analyze the
numbers to determine why so the farm can continue to improve. Likewise if Gross Margin is declining it is equally
important to analyze the numbers so corrective actions can be taken. Disregarding changes in Gross Margin could be
detrimental to the overall farming operation.



